Answer on Question #58926 — Math — Trigonometry
Question

1. Solve on the interval [0,27):
2sin? x—3sinx+1=0

Solution
2sin®x—3sinx+1=0, 0<x<2r. Let t =sin(x), —1<t<1.

+ + -
Then 2t? —3t+1=0, D=3*-4.2.1=9-8=1, t = 344D _8*l_ 3+1;3 l=1;£, hence
2-2 4 4 4 2
sin(x) =1 or sin(x) = = and finally obtain x = %, x= %, x =%
2 2 6 6
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Answer: X=—, X=—, X=—.
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Question
2. Solve
tgx(tgx —1) = 0
Solution

tgx(tgx—l)zoztgx =0ortgx=1=x=+xmmor x:%im, where n is integer.

Vi
Answer: X ==+, X=Zi7zn.

Question
3. Solve on the interval [0,27):
1-cos@ = 1 .
2
Solution
1-cos@ =%, 0<O<2r=> COSH=%:> 6:2{, 0 =4?7T on the interval [O,27z).

Answer: 9:2—7[, 0:4—ﬂ.
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